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Guidelines for the Candidate

you will get additional ten minutes to fill up information about yourself on the OMR Sheet, before the start of the exam.

~ Write your Name, School Code, Class, Roll No. and Mobile Number clearly on the OMR Sheet and do not forget to sign it. We will
share your marks / result and other information related to SOF exams on your mobile number.

_ The Question Paper comprises four sections:

Logical Reasoning (15 Questions), Mathematical Reasoning (20 Questions), Everyday Mathematics (10 Questions) and
Achievers Section (5 Questions)

Each question in Achievers Section carries 3 marks, whereas all other questions carry one mark each.

. All questions are compulsory. There is no negative marking. Use of calculator is not permitted.

. There is only ONE correct answer. Choose only ONE option for an answer.

. To mark your choice of answers by darkening the circles on the OMR Sheet, use HB Pencil or Blue / Black ball point pen only. E.g.

Q.16: Rahul bought 4 kg 90 g of apples, 2 kg 60 g of grapes and 5 kg 300 g of mangoes. The total weight of all the fruits he bought
IS )

A 11.450 kg B. 11.000 kg C. 11.350 kg D. 11.250 kg

As the correct answer is option A, you must darken the circle corresponding to option A on the OMR Sheet. \E o © @ﬂ
- Rough work should be done in the blank space provided in the booklet.
- Return the OMR Sheet to the invigilator at the end of the exam.

- Please fill in your personal details in the space provided on this page before attempting the paper.
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16. Find the value 0f\/1053—\/860—\678"/§§§'

17.

18.

19. A number is selected from the numbers 1 to 50. Find

20.

A 36
B. 38
C. 34
D. 32

If 45% of a number x is equal to the 27% of an another

number y, then x is what percent of y?

A, 50%
B. 60%
C. 70%
D. 40%

Factorise : (74 — 4b)* + 9(7a — 4b) + 20.

A, (7a-—4b + 5)(7a — 4b + 4)
B. (7a-4p )Ba +2b + 6)

C. (Ta+ap+ 5)(7a + 4b + 4)
D.  (7a+4b)(3a-2b—6)

the probability of not getting a perfect square.
37
51
43
51
43
50
37
50

A.

B.

C.

D.

In the given figure (not drawn to scale), ABCD is a
trapezium and DEFG is a rhombus. Find the value

of ZBCD.
G F T
68°
4
D E
B C
A. 78°
B. 68°
C. 64°
D. 74°

21. The sum of the additive inverge a5 ‘
. My
inverse of 3 is ’Dhcati‘lQ
24
A. 5
B 24
’ 5
C. 25
D. 25
22. Two numbers are in the ratio of , 3 ~
number is increased by 7 and 8reater' fsma“&r
decreased by 7, then both Numberg becq Mbe, \
Find the sum of the digits of the Smal]e; nue l:q“al.
m
A 9 )
B. 6
C. 10
D. 7
23. Which of the following numbers becomeg 5

cube when we divide the number by 59 Perfeg

A. 125
B. 25
C. 625
D. 3125

Direction (24-25) : The graph shows the number of megys
won by two different countries 4 and B in five competifoyg

in the Olympics. Read the graph carefully and answer
following questions.

24,

Y
s

Country 4
--------- Country B

N
& 8
|

22 +—
20 4

16 +
124
OLH ——+——X

It pnd 3 4 g
Competitions

Number of medals won—>

. hov
Which country has won more medals and S.V
Mmany more in all five competitions together:

X, Country B, 7
B. Country B, 5
C. Country A, 7
D. Country 4, 4

o] ‘._’_\,’[{“{
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pow many competitions, country B performed 32

25. Lr:;ner than Country A? Xg}::el}? of the following is the side view of the given
N : Top
. 21 Side
g' 0 Front &+
. ¢
,s’/subtract the sum of 5x* + 7x — 3y + 7 and -7y + A
26. 31.:’ gx + 5 from x4+ 7.)C—y2 + 23,
" ’7xz+6y2+8x+3y+ 11
g, -6 FertIytll 5
D, 51;_7y2+6x+5y+ 13
: G
What is the sum of lines of symmetry and order of
" otational symmetry of the given figure? =
D.

.9
33. Simple interest on a certain amount 1S T of the

A 6

B. 3 principal. If the numbers representing the rate of

c. 4 interest (in percent) and time (in years) be equal, then

D. 3 time for which the principal is lent out, is s
78. A student was asked to divide a number by 3.2. But A 5% years

instead of dividing it, he multiplied it by 3.2 and got
the answer as 13.44. What was the correct answer?

1
A 13125 B. 6 yoars
B. 051
C. 06l C. 7 years
D. None of these
1
] i _ D. 7— years
29. Two numbers x and y are in the inverse proportion. 2
When the values of x are 8 and 12, then the values of _
y are 9 and 6 respectively. What will be the value of 34. Find the area of the shaded part of the given figure
J when x is 3.6? (not drawn to scale), if E and F are the mid-points
A 18 of DC and AB respectively.
B. 20 — CT
C. 24 12 cm
D. 40 l
A F B
30. The volume of a cylinder is 2079 cm’. If area of base == ——=p
of the cylinder is 346.50 cm?, then find the height of A 170 em?
the cylinder. B. 150 cm’
A. 9cm C. 120 cm’
B. 5cm D. 180 cm?
C. 7cm : .
B B 35. Solve the given equation and find the value of x.
- M e
sy (s)! (8 x5\ 3(2x+11)=(5x+4)—3
— Rk
the value of x, if 3 5 5 8 A 9
A 11 B. -8
]é. 5 C. 4
D ; D. -7
|
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36.

’ 37.

EVERYD

A shopkeeper allows a discount of 15% on the marked

price of an article. If the selling price of the article
is ¥ 765, then find its marked price.

A. T850
B. ¥1000
C. %900
D. 1050

In a fort, there is sufficient food for 1000 men for
20 days. A few men left and the food lasted for 25
days. How many men left?

A. 100
B. 200
C. 300
D. 250

38.

A swimming pool is of dimensions 24 m x 12 m X 4 m.
What is the quantity of water in the pool, if water is
filled up to a depth of 2.5 m?

A, T720kL
B. 720L
C. 1152kL
D. 110L

39.

A prize of certain amount is distributed among three
.. 4 7
participants 4, B and C. 4 got 9 and B got 8 of total

amount of prize money. If C got ¥ 70701, then find
the total amount of prize money.

A. T 575480
B. 328504
C. 225560
D. 424206

40.

Age of Rahul is 3 years more than half the age of his
father. Five years ago, Rahul was 21 years younger
than his father. Find the present age of Rahul.

A. 21 years
B. 27 years
C. 22 years
D. 25 years

' 41.

In a class of 35 students, 7 students got more than
75% marks, 13 students got between 60% and 75%
marks and rest students got less than 60% marks. [f
one student is selected at random from the class, then
what is the probability that his marks are below 60%?

AY MATHEMATICS

42.

D.gs'

Mohit gave a problem to Samrath, S

Difference of two perfect cubes is |gg If
cube root of the smaller of the two — .

1
3, then find the cube root of the larger nllmbe:

Help Samrath to answer the question,

A 4
B. 6
C. 8
D. 10

43.

45% population of a village is below | Years
and rest are adults. From the adults, the ryg, of
number of men to number of women is 3 : 2, jfyy
population of the village is 18700, then fing the
number of men.

A. 6171
B. 5842
C. 7254
D. 8468

44,

45.

Sonali purchased two types of wires. If she purchased
7 m of first type of wire at T 45.50 and 5 m of second
type of wire at ¥ 43.75, then what is the total cosfof

I m wire of first type and 1 m wire of second typ¢

A. R 1875
B. 1445
C. %1525
D. %1955 o

R
boy

The average weight of 12 boys is 46 kg Ifa

of 79 kg weight is excluded, then what wil be
average weight of remaining boys?

A. 4lkg

B. 38kg

C. 39kg

D. 43kg

L(’\l“‘
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A
CHIEVERS SECTION

The given ie chart shows the distribution of
e gports complex amone the students of five ds-:ats of
1ff
schOOIS .,B,C.D and E Study the pie chart ca erent
answer the following questions. refully

and
Total qumber of seats of sports complex = 936

What percent of total seats occupied by students

of school D?

Wwhat fraction of total seats is allotted to students

of school A?
How many more seats are allotted to students of

school E than students of school B?

@ (i) (iii)

(if)

(iii)

A 15—5—"/ 7 84
. D 36
3 19
18=% =
. 185% 7 12
c. 17 2y, 4 92
. Mgnt 36
D. 20 2 % L 104
.
47. Answer the following questions and select the correct
option.
(i) Abhinav porrowed T 6000 from bank for 2 years: .If
rate of interest Was 10% per annum what W1
be the compound interest if interest 18 compound®
annually?
(i) Sushant bought 2 cell phone for Tx. 1 10° cos(t) of
cell phone in 2 years 1 depreciated {5 120004
20% per annum then find the value of ¥ .-
________________ SPACEF

O (i)
; i Z 16000
. 296
c 0 Z 17500
< wilasl % 18750
B, ¥ g Z 18000

D zis0  xs0
48.
zi‘att;h' the expression given in Column - I to one .
eir factors given in Column - II and select the
correct option.
Column - I Column -1l
(P) 1659 @ (1+59
(Q 5x*+3x+ 35 () Gx+ 2)
(R) 7x +6x-16 (i) (4x—3)
(S) 9*+12x+4 Gv) (8+7%)
A (P) - (i) (Q~ G); ®) = (V) (s) — ()
B. (P)— (i (Q~ (i); (R) = (V); (S) — (i)
c. (@) - (i) Q= (iv); (R) = (@ (s) — ()
t the

49. Read the given statements carefully and selec

correct option.
3(x—5
(x=3) =17 —%,then the value of

Statement - 1:If ——
. -1 2
xis —-
3
Statement - I 1£0.75 2t - 6) = 0.25(t — &) then

the value of tis 2.
I is true but Statement - 11 is false.
but Statement - II is true.

1I are true.

A. Statement -

B. Statement - I is false
Cc. Both Statement - I and Statement -
I and Statement - 11 are false.

D. Both Statement -

50. Fill in the blanks and select the correc
mber that should be multiplied

@ ol is the least nU
erfect cube number.

by 576 0 make it a P
of 7683 is L
e root of 2744 is R

t option.

(i) The unit digit of the cube
£ the digits of cub
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